sed

Tamil Nadu Uniformed Semvices Recruitment Board
S BHTR T Hamt 11 e urtan i S day eurfuni
Recruitment of Sub-Inspectors of Police (Taluk & AR) - 2022

FViy T TSN GHIAY (HTATRT U DT WUBOILID ) =

2022

Written Examination for Open Candidates/Siiny AT SISV BTT I RIS TSI @1 1 BB S T2y l

‘ seosstion Buokietissrics Enrolment No. 331 han & a3y =
i S graian aiena O ‘ 2
| ~ - 2
| 0N Ch S } > T
| 9. ¢ S L
1 N s X
N (S p ]

| OMR Answer Sheet Number il I P
OMR aPent_d, 37213 6197 - | y 2

Leasn | &%

|

Duration : 2 Hours and 30 minutes STRUD

Total Marks : 70

- c—y==y - =

INSTRUCTIONS
This question paper should be opened only after recenving the matruction from the examnanon hall v agilator
This queshion paper contains 80 queshons in FPant A (General Knowledee) and 60 questions in Part I} (Psschology)
Answer all the guestions

[ach correct answer has half mark

A L s 1Y

W nie the | nrolment No and S1 No. of the OMR answer sheet at the appropnate place in the front page of the question papce

Qurrds WU USY T T0

2 woent 30 AL Sse”

The type

of question booklet series and the correct answen to the questions (A, B, C or D) should be shaded in the relevant corc o

using blue or black ball point pen The answer sheet wathout shading the 1ype of question booklet semes will not be evaluaiad

For each question only one answer s Lo be chosen and shaded
& For wrong, multiple and improper shading 1 answ er sheets, no marks wall be given tor that answ et

immediately and 8 new question paper should be obtained before the commencement of writien examination

All the questions are bilingual except language questions (1 nghsh & Tanul)

K YR E
I Qs aleargaraner Gatay syap sowarafOunaia wiaynésd Qupn Fawardy Bpds Caae o).

2 @dalandsreld ug® ‘o' (Quiy wfey) BFafd 30 S rdamid ik USR K (2 @aPus),
stupsionan L Kaild 60 alimndsend o e,

1 iy SSendsmdgd e welds Caal P,
4 gl sfutar alanidgd aveny WRUDUSE QiR R

5. Getdens aav whyd OMR alan_dprelen aavenan s s fu Judsala
apseyid.

uCae BULmSit e, wyis el gemer @O Ui e Lngy.

1. 9@ Slaraipe 9@ ey wl HCw Fatey Ceriy L e B¢ Layib.

.

wPUCuas el ung.

9. ﬂﬂ"”‘.""ﬁd’ o0sgih édals BenpCuin, udsrisdr s fwns @anafC i nBan,
UP"’D'-“—Q bl Bstey Qim&@wg.b@ @peir o Pwrew wnySinngy aSarrggn

HAPUDSSLUEEDS.

unUuEhE (KAOd wipd slp) afarrdaanen salidsy

Qar@dsoul @ehonew,

10.

0“‘.45‘-:’"0'&:;1 Tt
e LS bsuﬂy \:“ ,‘-,‘,e‘u. 1y

tk

s‘\?ﬂi?j-,}"lﬂpﬂ'! Ghga dsde d

wenendy elandamd Qoave Qe g

9 Iftherc s any pnnting error, orerror in Page No in the quesiion paper, the same should be brought to the notice of the invigs

6. 5 “57"_’"“"""“” wens Py sfurw aferL seran afan garelad (A, B, Cor D) MAD@ S Tew (B0 Av.
@b (sbeug) smiy Pp urd undean Cuenena Garay® Ul e 'g‘:‘l*w‘b'n?‘”“”'vnfd .\'m_\:w.‘.

n&Qeun, : . . T ' , ¢
sep 90 VLLABPE Cudul el Blummlan, wudsd Badsvac QeiigrCan wia oFon &0

ST AL

3

—
SEAI




e, : \J
E':.;ur; '%-%;N G

PART — A : General Knowledge

1. James Chadwick discovered the particle 18 @Ncutroﬂ (D) Positron

(A) Electron (B) P;oton .
Geotbeiv FnLadld saaHLNgEH HIH6T ] o _
(?)? [?wz'.;m.:sv (B) yGom _mesr (C) Blyy-gmest (D) wmed _gres

2. Statement : The reaction that lukci place in _r&jsting of Iron is oxidation.
Reason : Because iron is converted to its oxide. _
(A) both Statement and Reason are correct (B) both Statemnent §ndcl§fason are incorrect
(C) only Statement is correct (D) only Reason Is corr

2 &
FHmr : @by QUL ser Hi5LN19.5 g adla) mant_Glumytd aflaer %
HealgGaripb pGLb. , ‘
gawib : gblewasilah @) mLby a1 b HESaTIS wrr,m',fDL'JU@w-' o
@7*\!159! Pmith sryentd @emGb &M (B) spmy LwDHmILD & M1JewTLO @oem@h Seumy
)

) Dol L@ &) (D) @ngesib W (Gb &l
3. Choose the correct acid and its use. .
A) nitric acid — digestion of food (B) sulphuric acid — bathing soap
vinegar — preserve food materials (D) benzoic acid — detergents

Twner Hbevid wHmih K1 LiweTsanar Gsika)s®
(A) eopLMé gyflevib — 2 ewrayiGlummenasaflar Gafwmarib
(B) seblilyMs yblovd — gallwsd Csaliy
(C} aflait — 2 emrayls Qungpen Gsi’ HCunsmos @és
(D) Qusirenuié syblevd — savaney GamiiLy

4. Which gas is responsible mainly for ‘Taj Mahal’ turning yellow ?

(A) sulphur di oxide (B) ammonia (C) chlorine (D) hydrogen
F' BLLOADTE, LOEHEET BIDLoNs LTDIeUSH@ 61hg ) (Lps&Ews STIEHTILOTEIDG 2
@\ FOUT oL YdaF(h) (B) < Comesflusr

) &Genndler (D) eam” gggesr

5. The most commonly used cooking gas contgjag LPG which means ?
(A) Low Pressure Gas Liquified Petroleum Gas
(C) Leak Proof Gas D) Low Phosphorus Gas

Cungieuna HBs yenallsy LWSTUGIL Farows umyealed o erar LPG ST&TLS)
(A) G™DEs 2 (pss My (B) Bgeunégsi . Gl CrreSus eumy
(C) s®ua_wns eury (D) geomsbs unsvugeay aumy

6. Assertion (A): The President is the Supreme Commander of the Armed forces of India.

ason (R) : The President is the head of the State and occupies the highest posit;
@ ‘A’1s correct and ‘R’ explains ‘A’ i ghest position.
(

A (B) ‘A’is correct and ‘R’ does not explain ‘A’

. A’ 1s correct and ‘R’ is wrong (D) Both ‘A’ and ‘R’ are wrong TP
sl : %‘-"‘-u“-r’r%""sﬁ st QBu YusliuaLsalldr smaaw sarud
&ﬂgmlb

- GRWISS Femeveur By er seaeurTsayh s o wWiks USaT
. rﬂ Iﬁmﬂ-’“:ﬂlm.ﬂ.b UBEBmnr. e ® -

(AS snpmpl &, STTILD FDDISHTET FRwreT oSerdsLnms i %

(B) sapm &, SMICLD Snpmidsner Fhuwsres aﬂm&sma';(%um [O}%

(C) anpmy &M SMOTID oy

(D) SnpD: &MY @yt @ b samy

e
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7. Who introduced the Local Self Government to India in 1882 »

(A) Lord Curzon (B) Lord Wellesly
@ Lord Rippon (D) Lord llastingﬁ
2 crena & yenwliiysener 1882 60 QBB wraTet B wpaiu@sBweart wrt o
(A) sises 9oy {B) QaussBavevald 57y
(C) Aduew Spy (D) Gamengmien (F7y
8. ere is the headquarters of BRICS Organisation located ?
%China (B) Brazil (C) Russia (D) South Africa
I f&a MLDLILIH SEEEMIDIWELD GTBI(FH HELOHSHIGTN S
(A) aminr (B) 9CGr&ev (C) gapwn (D) OzererndTaa1
9. The disputes between Central Government and the State Governments are adjudicat .
(A) Parliament (B) High Court (C) President @ Supreme Court
LSBWI-1TEIeY HIFTEISEISET @)enL_uflevnest Fldmsvaensn Bz enaudbFLo ey 1%
*(A) BTL_T@RLOETIDLD (B) 2 wigEwermin B4E
(C) puwrss seneveur (D) 2 ss5BweitnLD E]??Z
10. Which of the following State have a common High Court ?
(A) Tamil Nadu and Andhra Pradesh (B) Kerala and Telangana
O Punjab and Haryana (D) Maharashtra and Gujarat

Bipssnenyih ethg nBlemser Qungieunes s wif® wepsens Glupmysrares
(A) sOpsr®h wHpmid wBSTrGssb (B) Cayerr wphmb Clsgymisnesn

(€) uEpents wpmd anMwrestm (D) wasrgrayypn HIID (SLITS
ol
11. The Vacuum Flask was invented by
(A) Kelvin (B) Antoine Lavoisier
James Dewar (D) Pascal
QeupplL & GHeeauan EXTB LIy SS5euT
(A) Oscvadlesr

(B) w6l _miesr eweuriedwir
(€) Gggberv Beuni

EYE
(D) unevsed ,EE%

While going for a ride in merry-go-round yoy experience an outward pull, this pull is due f©
(A) Centnipetal Force @ Centrifugal Force

(C) Electrostatic Force (D) Magnetic Force
oL QTR spph Qurus, Fisdr QaeGrréy Posdis FIW
aflenseanw o ewi&Pisen, @diaNensssnes srgenTib

(A) enow G,csr.rei;(g aflena (BY emwows aflevd g aflens
(O) pewev haiasflwed aflans (D) snmis aNens

12.
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13. Choose the correct pair:
(1) Atmospheric pressure a Newton
(1 Force b Pascal 1
(1) Mass ¢. Kilogram/metre
(iv) Density d. Kilogram

14.

15.

16.

17,

l;\l(f)l‘l (!!)c(!!!)(i(!\.).{ -

@ (b (ina (in)yd (iv)c E'I?‘E

(C)y (c (d@ina (iv)b ‘

(D) (1Yd (i) c (i) b (iv)a

silwnest @enessranwsd GarihG)sH)d5ath.
(i) evelloersr_sv DApdmib A, Fluy e

(1) aflans b. unavasw
(i) Alenp ¢. RBamgmb /b
(V) s d. ®BBaun®mgme

(A) ()b (i) c (i) d (iv)a
(B) ()b (i) a (i) d (iv)c
(C) ()c (i) d (iii)a (iv) b
(DY (N d (ii)e (iii) b (iv)a

Which unit is used to measure the intensity of sound ?

(A) Henz (B) Light Year (C) Candela @ Decibel
oafluller Gefleunears e1bs oasTsb el Lu@ S

(A) Cami av (B) safl gpem® (C) Caawmgevnr (D) QL G st

Boiling point of water is 100°C. Its valuc is equal to

(A) 273.15K @ 212°F (C) 100K (D) 200°F
fpiler GanBblency 100°C. @ubwBUltn@E Fowneng

(A) 273.15K (13) 212°F (©) 100K (D) 200°F
Which is wrongly matched ? %ﬁ

(A) Igneous Rock — Lime Stone @ [ntrusive Igneous Rock — Sill
(C) Sedimentary Rock — Sandstone (D) Metamorphic Rock — Diamond

@eupplev 181 Zoupns ClunEGsBweTeang ?
(A) Buunep — sawammiby urep  (B) 2@medlw riimenn — fap

(C) wgeLIInEDD — LemHUTaD (D) 2@Lmilu urenp — enaugip
Mangrove Forest is located in district.

Cuddalore (B) Coimbatore (C) Dbharmapuri (D) Salem
sgILL BlevdasnBeer el L6 sewbgeteng.

(A) sL_gn (B) Gamubyggat () siwyd (D) Gseuip
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.8.

19.

20.

22.

s

Consider the following statements and answer the right option from the given.
Assertion : Braindrain is related to educationally specific selective migration.
Statement (A) : Unemployment and under employment are the reasons for Braindrain.
Statement (B) : Country of origin is gaining potential leaders and talent.
(A) Statements (A) and (B) are wrong Statement (A) true, (B) wrong
(C) Statement (A) wrong, (B) true (D) Statements (A) and (B) are true
Serupl unssunisemer smsPea Csnan( CarBssliul Peamappen sfumen
awréBwsms Gzi50s (.
FDml . DY YoliCluwiss ereiiug) CaisllsBasliul L seavad Fmi IEIJ%IE

@ UQuwiGan® G iye»_ws@Lb. Hes
and@wib (A) : ey YUQUWIFRE Gaumevaumiiiiarain whmb 5&BEGsDU
GavenaviileianwGw &npewtib gy, @Lb.
auré@unb (B) : Onissn® afiane samaaisamanyib, Spenwsrsslsenanub

Cun&mns).
(A) eund&wib (A) omyb (B) seumy (B) sund®wib (A) & (B) geumi
(C) aund®wiih (A) seumy, (B) & (D) eurdBuwib (A) wpmyib (B) &7
Which country is the largest produce of platinum in the world ?
(A) India (B) Russia (C) China (D) South Africa
e g emib o puUSH e o w&GaCw aLGufy Bl &g ?
(A) @Qp&wr (B) peypwim (C) Benn (P) Gzéir Lulidsm
Drilling of oil wells is the hole drilled in the layer of the Earth.
(A) crust (B) mantle @ inner core (D) outer core
yadl FwerdL () aawblewmid Seapset HenwssUuBSSDeT
(A) CuBawnr e (B) saussse (C) o6ir salleh (D) Gavel smmalled
. Which Act separated Burma from India ?
Government of Indian Act, 1935 (B) 1833 Charter Act
(C) Rowlatt Act (D) Minto-Morley Act
anséFL L b uinene @BEBwradleSmhg NS5
(A) @B8w & s 1b 1935 (B) 1833 L w&si L b
(C) Qpenav’ sl 1b (D) WBerGLm-womias FL 1 Lb
Name the Nayak who inaugurated the kingdom of Ramnad.
(A) Muthu Knishnappa (B) Muthu Vaduganathar
(C) Chokkanatha Nayakkar @ Vishwanatha @%&E
@uonwpng SPpoes CsT_mEleeags FrussT wrt ? I‘ET%
(A) wds S@apewliui (B) wss whemnsi

(C) Qendsnns pmwssi (D) afayeumngi
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chezhiya pandian.

ption mentions the King Nedun . ‘
din TamiI-Brahml letters.

(B) (ii) only correct
(i1) are correct

&1 UpD sE DS

23. (i) The Mangulam inscri
(ii) The Mangulam inscriptions were depicte

(A} (1) only correct

(C) Both (i), (ii) are wrong @ Both (1),
(i) nm@end &eGlau () LITasTLg w7 67,5@@@595]"1

(i1) wriigenb aebla’® Hp-1Igmidl ﬂ@gs'gjai&mﬂsb G)urr;ﬁ?a;&uu:_L_wm.
(A) (1) i@ &f (B) (ii) L@ & )
(C) (i), (i) @raw@ib Beum (B) (i), (i) @oarGILb ok
24. Which of the following statement is true ? %g?[fj
(i) In Sangam Age the Kingship was hereditary. & ;.,;Z
(i1) The King was called “Ko™.
(A) (ii) only (B) (i) only
@ Both (1) and (i1) (D) None of the above

BLpseNiL. Fapmisailah aTensy 2 ehILDWTIENS 7

(1) FEISHNVSREV HTFTAGLD LITLLLIGH TGS .

(1) ygat "G’ 6161 HyamLp&as 1L LT,

(A) (i1) @b (B) (i) @b

(C) (1) womtd (i1) @)gesw(GLd (D) @eupmied e1grayth @evede
25. Match the following :

a) St. David Fort (i) Calcutta

b) St George Fort (i) Pondicherry
¢) St. William Fort (iii) Chennai

d) St. Louis Fort (iv) Cuddalore

@ ). Gii), ). (i)
(D) (i), (v), (), (ii1)

(A) (iv), (i), Giii), (i)
(C) (iv), (iii), (ii). (i)

QuUIBSSIS :

a) yofls Crail GamleL (i) sUSGET

b) yefls gy Cam e (i) urawmydGs®  Qum
¢) yofls afevaflwid GamienL (i) Olearanar E]S%

d) yais ayndev Gam e (iv) sLgri-

. (A) (iv), (), (i), (1) ' (B) (iv), (1), (i), (i1)
(C) (iv), (i), (i), () (D) (ii), (iv), (i), (iii)

56. The President of India can nominate

(A) 12 members of Lok Sabha (B) 2 members of Rajya Sabha

@ 12 members of Rajya Sabha /(D) 14 members of Rajya Sabha
@Lq_waé&:ﬁ ge@augned Blublésliu@ueuiser

(A) Gorés@Us® 12 2puderiad  (B) grggu seude 2 2 pideriad

(C) grgw &

e

ué@ 12 2miSerisdr (D) grgu seaud@ 14 2 prinferiser

e ey i, o —



2 . . .
"\ hirch house of the Parhament is known as Permanent House of the Parliament that neser
pets fully dissolved ?

(A) Thel ok Sabha @ The Rajya Sabha
(C) The Ministenal Cabinet (D) The gro;p of Ministers
.3“""’3'}““%@"37 §THS -pyemay, BTLTETBLOGTDSS AT FIThET U’ HBwOUBEDZ 7
(;‘\~) ki seneney (B) wrileisearenay 24E
(C) yyenLdggenay (D) Hyandsrast (P E@

38. What 1s the time limit to get the information from RTI Act, 2005 ?
(A) 20 days (B) 25 days ©) 30 days (D) 35 days
seeuct oy 2 fleows sl 2005 ar Uy pauaLs CupyeugpasTes &7
QuLbYy

(A) 20 prl&en (B) 25 prisen (C) 30 pmseir (D) 35 BT &S

19. The clectoral system in India has been adapted from the system followed in the

United Kingdom (B) USSR (C) France (D) China
RiBu Caized wmp & Sauppuu®is Gaisd wpmps@Ty Seups
gpmié Gasmearerul L gl
(A) @uBensPe (B) Gsnallwg gaywnaliléd
(C) Ypmeiradad (D) Barralled
30. Match the following :
1) Citizenship Act (i) 42~ Amendment
2) The Preamble (i) 2004

3) Classical Language-Tamil (i) 1955

4) The mini Constitution (iv) Jawaharlal Nehru
(A) (@), (i), (i), (1v)
(B) (i), (iv), (i), (i)

@ (i), (iv), (i), (D)
(D) (i), Gid), i), ()
QunESsIS -
) guyfews s 1b (i) 42 ws Syrfuevamwiyé FULSHBSSLD
2) wpsayeny (i) 2004
3) GebCwmyd)-sO1p (iii) 1955

4) o SrFweveLUL (iv) geusiwmed GE(h
(A) (i), @), (iii), (iv)
(B) (iii), (iv), (i), (i) %
() (i), (iv), (i), () 2
(D) (iv), (i), (ii), (1)
31. Which hormone is associated with our immune system ?
(A) Insulin “(® Thymosin (C) Thyroxine (D) Adrenalin
Biogy Grmis seLsmiy wev gy Lo Cgm iy w anriGner 13/ 7
(A) @escSer  (B) awsCurfler  (C) evspnéadar (D) Sy AeweSed
o

~ e e . e _
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32, Assertion Mitochondria a . 1P molecules
Reason : They produce encrgy rich ATP molecules.

(A) Assertion correct, Reason wrong
(BY Assertion wrong, Reason correct
(C) Assertion and Reason hoth are wrong

Asserti sason both are correct . )
@ Assertion and Reason b - R -

aapp : oG nmneis” Auindhme ‘Qlaebedlent hD -
SO Lpdhn L1 LI (BRI DET. B e g_@cumﬁ@ DS -
apexath . pyeneu Nanawnppaats GlLUHD ATP apevdsm i b o
m
(A) aappy &, &ngesrd aun (B) sappi VD) o; g) (b o
(C) sy, Srgewih @oesr@d pougy (D) sy, HOIEHLD (3)T

33. Match the following : EISEI
a) Vitamin C 1) high fat Ol
b) Avocado 2) iron
¢) Seethaphal 3) fatsoluble pigment
d) Carotenoids 4) Guava
A 21L3,4  (B)3,421 © 1432 @ 4123
Qlunmsss
a) 2 issgs C 1) wBs ey Glamupliy
b) wyeuGsGrL 2) @mwys &S5
c) &am U 3) Qe smawdsngw Bob
d) &Gurlearmi@ser 4) Qamown
(A) 2,1,3,4 (B) 3,4,2,1 C) 1,4,3,2 (D) 4,1,2,3
b e
34. A disease which weakens the bones and makes it brittle is
(A) Paralysis Osteoporosis (C) Fatigue (D) Nerve Impulse

aaybysamer wgallpss Ceds supep 2@ vdsyu Haowde GQaram®
Glesvgyb Gpmi
(A) udsaungLb
(C) sanaruLy

(B) v 19 CunGunCrr&en
g»ﬁ (D) pobys srebr_ev

35. Select the correct option : . -
Statement — I : When vegetables are cooked in water Vitamin — C is lost.

nt — II : Vitamin — C is water soluble in nature,
(B) Statement I and Il are false
(D) Statement I - false, Il — true

Stateme
Statement I and I are true

(C) Statement [ - true, I - false
Purear afleLud CaipCls(®.
:\;by—l . gmiisPE@eT Biled samwd@b Gungl, 2 ulidedg - C @) 450LERDS,
&M—ﬂ . p ufli&ESS ~ C, gMe senguib seireno Q‘"’“‘lﬂ_ﬂ,
(A) sy | oPDID 1l & (B) appy I opmuib 1 saumy
1] (D) snpmy | seugy, sapyy 11 o

(C) smpgy 1 &, 11 580
—_— e




6.

Who is Greta Thunberg ?
(A) A Sd‘"fli“ (B) A Holywood Actor
(C) A Tennis Player @ An Environmental Activist for Clhimate Change

G gaQuid arewucut wat °
(A) 8@ Sesegrad

(B) @ ap ey pyst %
(C) om CLswaflov aJyt

(D) 9@ ugufox LIHPEEDETN SDYIE S HiVRT
What is INS VIRAAT ?

(A) Submarine (B) Warship
@ Aircraft Carrier (D) Missile
. aeir. sTev. aflgnl eI eTeHaT ?
(r\) At pp& sl (B) Guniad &b
(C) aflwnarid ST sueD (D) gaysaent
38. Match the following :
(a) Ponniyin Selvan (i) Scethalai Sathanar
(b) Manimegalai (i) C.S. Lakshmi
{c) Kuyil Paatu (in) Kalki y

(d) Sivappu Kazhuthudan Oru Pachai Paravai (iv) Subramanya Bharathi
@ i), (), (), Gi)
(B) (ii), (i), (1), (iv)
(C) (i), (i), (iv), (i)
(D) (), (iii), (i), (iv)

Qunmssis
(a) Quneraflieir ClFsbeus (i) Bsseoe Fnggenni *
(b) wenfiGuasee (i) C.S. way

(c) e ur_® (ili) scb®
(d) Py SPSSIL T @B LUSSE LD (iv) slgwesfiu urg®

(A) (i), (i), (iv), (i1)

-(B) (ii), (i), (), (iv)

(€) (@), (id), (iv), (i)
(D) (@), (iid), (), (iv) %

39. Who is the President of Ukraine ?

@ Volodymyr Zelenskyy '(B) Vladimir Putin
(C) Boris Yelstin (D) Denys Shmyhal
2 denpaflenr GUWISS st wri ?
(A) Camewy b Cleadrav® (B) eSlevmgifit Ljigeir
(C) Gunddiav sTevevieeir (D) Quciraflav Ruwmbapmed
——
( 4 :
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40. As on 31 Jan. 2022 which State has inst

India ? _—
@ Karnataka (B) Gujara 4

(C) Maharashtra (D) Ta.mll Na uc)g;nsirrcﬂm‘ll Bpa NEN (W
31 geweaurd 2022 air Aeveugiiing, syps omEleLd -J'Qaamw g
ya9dsssds e1lsss pmmey Ao’ L B PS5

(A) sapTL_&b 2 (B) @6?9:"5 x@%@
(C) wamgnaypy gib (D) LEpsTG) = ot

alled highest overall renewd

41. Which country will host FIFA 2022 World Cup ?

(A) America ® Qatar (C) Russia (D) Brazil
155 BI® osio%umr 2022 2 wad Canlismuaw BLSSETTS 7 )
(A) HQwddasr  (B) aggmi (C) gaywm (D) 9CGo&sw

42. I) NATO is established for providing mutual defence to member countries from an attack
by an external party.
II) Russia is a member of NATO.

which of the above statements are true ?
@ Only1 (B) Only II
(C) Bothland I (D) Both I and II are not true
) NATO arsrug om Qeualsgiderfier snégsaie QmBE 2 MGy FIRSEEES
ugevLg ungsTuldnsts Boeuliuc L gy.
II) geapwnr NATO aflcir 2 mitnfestgns a_eirensy.
Cule Csr@séstiuc L B e1ps smpry sfwuneng ?

AA) T G (B) Il o @b

(C) I wopmyp 11 (D) I opmyed 1 SUDIegy
43. Who is the first Indian to have won Golden Globe Award ?

(A) M.S. Subbulakshmi (B) Latha Mangeshkar

(C) S.P. Balasubramanyam A. R. Rahman

Gsmevair CGerrls aflpens GlupD (LpSD @BBwi wni o

(A) e1Lb. eTev. FLILj&EHLE +(B) g1 wiiGseavsmi

(C) erav. 9. ures el (D) e1. @yi. pabwonsr

44. What is the expansion of UAV ?
(A) Unarmed Aerial Vehicle EIEEJ @ Unmanned Aerial Vehicle
(C) Unique Armed Vehicle Oig (D) Unmanned Attack Vehicle

UAV @)eir feurné&b ereirenr ?
(A) syeirgyid® gflwsh eursad
(C) yofld pyib(p UTELD

—

(B) syenonsim® eiwe eunserh
(D) wyenonew(®) y_né eunsenip




. International Yoga Day is celebrated on

(A) ‘I.'mlu:nr}' 30 (3) May | @ Tune.2] (D) November 19
o @4 Juinan Benb e1h3 wnedley Oanew n_Oum S o 7
(A) gyanard 30 (B) G (€) gyoair 21 (D) mauibLii 19
146. thnl white light enters a medium, which colour travels with highest speed ?
(A) Yellow (® Red (C) Violet (D) Blue
Qausienan gafl @i omi_aiBeyen Gachayo Guiz, «1hs HLL D5 Cazis
QacgLb ' -
(A) Lo@p&si (B) Sauiy (C) 2ingn (D) devih ONI0]
The ins ] T
47. The instrument used to detect the presence of electric charges in 2 body is
(A) Microscope (B) Volumeter @Elcclrogcope (D) Ammeter
Qunmen epley LTFISSH QEBLULDS FeNL DI LwSTURSSULE LD 550
(A) pewGeawnss) (B) Geunsvll i
(C) Aeneuiblssiamiy (D) ylb
48. V=1]R
(i) The above formula was given by George Simon Ohm.
(i1) In this Formula “V’ stands for potential, ‘1" stands for current and ‘R’ stands for resistance
(A) Only (i) is correct (B) Only (i1) is correct
@‘Both (i) and (i1) are correct (D) Both (i) and (11) are incorrect
V=1R
(i) Gopemmdlu sweTUNG E2TTE FLLGT @Lb STSTLIQUTTE) Hoyeuiu’ L g
(i) GuphampPlu FweTumr iy VO ereiTugl TIPS SS DB U LD ‘1" eratusy
BHerGennl _genguyb , ‘R’ erediigi ez _eoLoulh GDESLD.
(A) (i) @b & (B) (ii) o @ub &1l
(€) (i) pmyb (ii) A (D) (i) tpmib (ii) FAlwebev
49. Which nuclear fusion produces energy in the sun ¢
(A) hydrogen to sodium (B) lithium to hydrogen
hydrogen to helium (D) hydrogen to iron
IS DS (1B @) anemallenmed @ Mweflsd DD 2 (FUTHSTDS °
(A) enapL pgeflalmpg Gomgwid (B) a98Sws B Brs enanL Jges
(€) ewant ggealednhg apeluth (D) ean ogaflal@igs @ELH
50. Cryogenic propellants used in rockets are at EEE
(A) very high temperature (B) high temperature 5&
(C) room temperature @ very low temperature

@oré Qs Bsefled DweL@SSLILG D BrGwn Clgafls Qi QumpeTs e
(A) s HB9s QauLiufleedies @ @dELD

(B) s Qauliuplenauiled @)5&@Lo

(@) yemp QausuBeraiiled QBSGL

(D) WH&d GmDHES GeuriuBlaevulled @)L

e R TETG Rt -
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: . il Nadu Police recenyy v >~ &
51. The name of the new Citizen Safety Mobile app launched by TamD) Sp—— Y% X
@ Kaavalan (B) Kaaval Uthavi ~ (C) TNPOL ( . o e
. . . . ysmns FELUSH Clpmristic,
BLEPBIE STeUsh HEODWAG (%13 L0SEET LITHISTUL
»3Cus Gewaiear Quurt 2 .
. . sGumreben
(A) &meusuasr (B) smeuav 2. gall  (C) u;s-rmGufTGU (D) gerea
. i ?
52. In Tamil Nadu, where was underwater Archacological site Museum established
(A) Tranqubar  (B) Korkai (C) Musiri @ poompubar
SEPET e ey Brésy s Osraius sarh HBASTELSD LSS
UL (peTang o = _El
(A) sodisbumg  (B) Qsmhens (C) wp&B (D) ywoysmt @"g@_.
53. FASTag at the Toll Gates uses which waves ?
(A) Infra Red Waves (B) Radio Frequency Waves
(C) Ultra Violet Waves (D) Micro Waves
FMISF FTauy seafley S DLDBHIGTET LTV L 1&-6D 6155 MV FEHAEeT
2 LCWIR&S LG Datnar o
(A) o5 Pauliy yyeausBir (B) Cry.Gunm yemaveufens
(C) Up 2mgn y>VsRT (D) meswr syamav 5D+
54. Match the following :
Country Year of Independence
i) Sri Lanka a) 1971
i) China b) 1948
it1) Bangladesh c) 1949
iv) Pakistan - d) 1947
(A) a b c d
(B) b a c d
)b c d a
@v c a d
QurpssIs
B1® FSBBIb QDD aUHLLD
1) yfevmisr a) 1971
ii) e D i g
iii) wAseTTGSay c) 1949~ @i
iv) unSlevgmes d) 1947
(A) 2 b ¢ 3
.(B) b = Z .
©b ¢ :
@b ¢ 2
JE— —-‘—_'-—-——__—____.-——-
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Who 1s the author of the book ‘Keezhadivil Ketta Thalaattugal™?
(A) S. Venkatesan @ [:rode Tamilanban
() Vela Ramamoorthy (D) Karthik Subramaniyan
Rty WMo Cal L gnewn Rae’ ereip predlesr gy HlAlusi wan 2
(A) & QamiaGraen (B) #Gun® blpestLies
(C) Geauev gnoepis s (D) &nid®d & ooasniluie
56. Find out the wrong pair,
(A) Mangal Pandey - Barrackpur (B) Rani Lakshmi Bai — Jhansi
(C) Velunachiyar — Sivagangai @ Kattabomman — Nerkattum Sevel
Foupnen (@)enewenis &G,
(A) rsoUTETGL. — LTISYT (B) prewflevl sblumd — spneTél
(C) Geaugyprd®wni — Fousmiens (D) &L GQumbLoes — QrpsL @b Craued
57. Who discovered the direct sea route to India from Europe ? [gggl
(A) Columbus " (B) Mcgallen g
@ Vasco da Gamma (D) Marco-polo
@ CGymiunellelpig @sPuneiing Cpoy S aflerw sem@IyssaT W
(A) Qarevibuev (B) Gloseveves
(C) eunavCsmr_smon (D) wriGsr GuirGeun
58. Who emphasized the unity of Hindu-Muslim ?
(A) Ramanuja (B) Adi Shankara (O} Kabir (D) Meera Bai
@381, (pevedd @Dhp/amLeL euaSlyymy$Fweui wni 2
(A) @umoeg (B) 8 smsgi (C) adm (D) Bom umads
59. Who was the outstanding leader of Palestipe Liberation Orgdnisation (PLO) which was
formed in 1964 ?
@ Yassar Arafat (B) Robert Schuman
(C) Konrad (D) President Nasser
1964 60 2 HeumdsILL L LTeSRSET APsme QUSHSHET LosSHTET gemeveut wil ”
(A) wrsd HyTuS (B) gruil. eudLoest
(C) Qanmesrpmi | (D) H®ui prai -
60. Who founded the Adi Dravida Mahajana Sabha in 1893 ? : 5%‘
@ Rettamalai Srinivasan (B) Swamynathar
(C) T.S.S. Rajan " (D) V.S. Srinivasasastri

1893 6b y@PoTdl LOSTREN Fenl eTeienIth HemLOLIGHLS 2 (peundEweuit wmi ?
(A) Qi enamev Faxfleunsei (B) seumbpagt
(C) T.S. S. prggeir (D) V. S. yfeleurs snav@i

e e —— &
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68.

cretion of stress hormone sca“““’é
e

 BoL

b . 8 - e eSS
wghing 13 good tor health, because 1t reduces th

™ and makes us to relax . vinoland (D) Thymus gland
@ \drenal gland  (B) Thyrowd gland (C) Gastn® g. gmnﬁamnmrrm

37a ’ | . L . ) p

L0y 2 gideg saay odwalld éﬂ'ﬂtﬂ'—l- %méﬁm?’@ aumHaTDSI-
srdaR anay saraw Quaty Heowsd s

W) v Rand s (B) engomit® &?L'“Q El;@
() et S0 (D) mgwdv Fould & :1

oo \sudden change in the genetic matenial of an organism 15 calle.d
(B) Natural Selection

\) Hybndization ;
@ Mutation (D) Mass Selection _
27 2 O FNAR S wIylQuageld Reblger gpu@Ld LD erenyl
EHy A20UF R s
\} sdyydsd (B) Qupass Cariey
Cy = :2 e 7[."\.;\1:‘ (D) &xL._@,Q' Gﬁﬁ‘ll
o, In which ot the tollowing plant food is stored in stem ?
A Beetroat (B) Carrot @ Potato (D) Radish
SR 3uaran s sISSTUTL SQTYd o e GCohllsSlSTng) ?
\) gl s (B) Gsm_
C) 2 sooars&ypidny (D) qpeiremrmi&
64, Choose the comect pair.
A Viamin A — Rickets (B) Vitamin D — Xerophthalmia
G Vitamin B, - Beriberi (D) Vitamin B, - Scurvy
oty Qaavaw 3313650 i
(A) e@an’ L 1far A - Fallal et (B) a1 18lar D — 8Cgme :
(C) e 18s B - QuAGud (D) swaul L Reir B, - dui’f;:’g”“'ﬁwn
&5. ELISA test and WESTERN BLOT test are used to detect disease
(A) Tvphoid @® ADS (& Polio (D) Cholera
\ saller Gansamer wHyd Casvl L isr e’ Csrsanar Crma .
san_fu vuSTuGEDSI- = R U@UU
(A) e SuTdl (B) st e % ‘
(C) @embSdrenar Qinsth (D) smraugn =g
66. Find out which one is not in the Food Quality and Safety Contro] Agencies ?
(A) FSSAI (B) AGMARK  (C) FICCI @ o
Saugaaranid) a5 2 ey LHDILD SIESUGUUN® Aneueas o
(A) FSSAI (B) AGMARK  (C) FICCI D) Fro
§7. Pernicious anaemia is a deficiency of Vitamin.
Cyanocobalamin
(D) Vitamin K
Bosid 214555 @
(B) ew%ﬂ&m%ﬁ;ncg
(D) 2 adiésg g K
—_—
r
i\




_ An example for decomposers are and

Bacteria, Fungi (B) Bacieria, Lichens
(C) Fungi, Lichens (D) Algae, Lichens
PepsUILIIUSEHhS G aRSHEETL OIS _ woppb
L(A) undieundgss, Leheamassi L(B) undie Aundssrn, eadGadad
(C) LyEeremasen, evd 0)&esTH el (D) gsvandaen, enevd G5 st H e
69. ldentify the true statement with reference to noise pollution :  Fa@E
Statement — I : Noise is the unpleasant sound. [‘Elﬁ
Statement — 11 : Reduces depression and stress. '
Statement I only true (B) Statement IT only true
(C) Statement I and Il are true (D) Statement I and II are wrong ‘

o s Pz shuner unsslugss ST P&,

ansuwib-1 : @elowvwupp @aossarar ab.

cuna@uwib— 11 : wew Ganiay (1b) HPSSS™F GPDPSFDSI-

(A) eumrs®wib | ol Rb & (B) auréd&Swib Il ol (b &

(C) eund@uib 1 wopmyb 11 sfwnengy (D) awrs@web 1 wpmyib 11 seupTeag)

70. Match the following :

Conservation Law Year
i) Project Tiger a) 1992
i1) Project Elephant b) 1999

iii) Sea Turtle Conservation Project c) 2020
iv) Indian Rhino Vision d) 1973
@i—d ji—a iii—b 1v-c
(B) i—a ii-c¢ ii-d iv-Db
(C)i-b ii—d iii-c¢ iv—a
(D) i-¢ ii—b ii-a iv—d
Qunmwsas
Conservation Law Year

i) yeSaer ung&EmIL SILL LD a) 1992
i) wreperser LTSS BILL LD b) 1999
¢) 2020

iil) sL6b gy enLpseT LTHSTIL B b
iv) @5Bw snewL mAEBEmEeT LImgI&mUILy
(A) i-d ii—a dii-b iv-c

(B) i—a ii-c iii—d iv-b %gg
(C)i-b ii—-d iii-c iv-a B
(D) i-¢ ii—-b ii-a iv—d

P d) 1973

71. On which river Tehri dam was constructed ?
(A) Kosi (B) Krishna (C) Narmada  ((B)>Bhagirathi
Qsaf syenewr 6165 ShDDIGH GnéGs sL L LU Bemg)
(A) Gsn& (B) &mayewra (C) priwas (D) un@r® I

e e e S

?

1 e o — oy S g 51 T



T2, Which country shares its shortest border with India L
t\) Nepal (B) Bhutan @ ,\lghnnis‘&.mﬂ lU’i (h-m;l -
EFus B steanocanu QFRuwT 615% BT RSV UBTH & FTIR DI
(AN) GryurTemt (B e
(C) cprmTarans 153 (D) Far

73 Where is the National Jute Board headqguarter is located ?

@ Kolkata (13) Mumbai (C) Chennai (D) Delhi
SETUN FSV UTTUAT SI Loy o onicus Lk TS ML FESTITE
(\) Qamavaisnt  (B) (piieni (C) Qgaramay (D) Gsvald

74. Which ot the following is true ?
Assertion — A

E¥E
B St . md
lamil Nadu is located in Deccan Plateau.

» During cretaceous period this part got separated and formed Gondwanaland.
(A) "A'is correcty ‘R s wrong

Reason = R

(B) "R7is correct/ "A' is wrong
(C) *R"is not related to * A *A’and ‘R are correct

LI SSTu (B L1ssTau D 1) 1) gfluinesg sremau 2

FnDD  BuspHu Gl starOu@in s45aen 16t SUENDBEAED
DD LD B i1 51T % .

sagemin - @UuEH KO0 G Pusav snugBev 19dis Cscip CGar
Blaviu@EHuI s 2 (Beutey Gup LS umsb.

(A) &ppy sflwrsmg/&ngennt seuprestsy

(B) snpenrie eflwrewr auns@uwih /s pmy SUDIEN S

(C) srgewre sAwmren aflandsio s spBlHE

(D) spmy woppib sngesah @)nssa(ith &)

&l eurent

75. Match the following :

Hill Station State
1) Mussoorie i) Himachal Pradesh
2) Shimla 1) Kerala
3) Munnar i) West Bengal
4) Darjeeling iv) Uttarakhand o
(A) 1,1, N1y (B) 1v, iii, 1, i!
iv, 1, ii, 11 (DY v, 111, 11,1
LUT(BBHIS .
LOGOSUSUTLAIL rigeir LobleuLd
1) wpGsrd 1) @urésaudsGsew *
2) &bavm 1) Gzgarm sy . <« E5@
J) apawTmy i) Gume@ susisTarnd géi
4) Criglal)ms V) 2 g@gsmasml < T
(A) 1, 1, i, 1V (B) 1v, m, ff 1
(C) v, 1,1, 00 (D) iv, i, i, 1
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76. Which Indian has won Nobel Prize in Economics ?
(A) Kailash Satyarthi (B) Mother Teresa
(C) S. Chandra Sckhar @Y Abhijit Banerjee

7.

78.

79.

80.

QunmezrgsPd Crrued ufs Qeueitp @)BHwrt
(A) epsnay sgwiss (B) yetremen Glgoan
(C) ereww. g8 CGaar (B) 983 Cuenigl

BYE
Which of the following is a direct tax ? E@
(A) Excise duty (B) Customs duty @ Income tax (D) Service tax
Brpeupeussaupmyer 618/ Griwps eurl ?
(A) sevred auf (B) smis eurl (C) eugpLonas eudl (D) Geemeu eurt

Which district in Tamil Nadu has the highest sex ratio as per 2011 census ?

(® The Nilgiris (B) Nagapattinam
(C) Thiruchirapalli (D) Thanjavur

2011 sewi@s@UGTLLY, SOPHIL YT e1bs oMUl L SV umedles
2Da0s 2 TS
(A) B

(O) Q@é’ﬁgnﬂucﬁﬂﬂ

A& s L0

(B) prsLiul’ g ésiib

(D) se5onay

I) Nationalisation of banks was effected in 1969.

1) ICIClis a Nationalised Bank.
(A) Only I is true
(C) Both I and II are tru¢

(B) Only II is true
(D) Both I and II are false

N 1969 @B uRIE&ET grn_‘_@z__mwuma';&ab Glewebum 1g 60 2 eTOTS).

1) ICICI eresiug 9@ Ggﬁwwwwrr&&ﬂuil_. VLA
@ 1 G o B) 1l il Bb &M
(C) 1 opmyid 11 @)gess(pLh M (D) 1 wppyib 11 @uess®ib seumy

. EYE
Stock Markets in India are regulated by E]‘h
(A) RBI (B) Ministry of Corporate Affairs

(C) SBI (D sEBI

@iPwrelles LG FPSEDT SURGSULGSEIVS 6181 ?

(A) @_5_@«1 Rahes aums® (B) Cua Amyeuet afeusTyrISeT LMD FFFLD
(C) B Cuiié U O 2 (D) @UBwW uks wHmLd LAIESE®EN GuTT WL




82.
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86.

87.

38.

89.

90.
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PART - B : Psychology

. Match the following :
a) Beauty ) Adverb
b) Pretty 1)) Noup ‘
¢) Neatly [11) Con)m?ctton
d) Unless [V) Adjective
Wit @noiv @111V (D) 11V I
Choose the option which has logical relevance. E4E
[. ‘Fine’ means healthy ;

‘Fine’ means the amount paid tor punishment. ‘ -
I1. In the above sentences, the word ‘Fine’ is the example for Homophone’.
I and II are correct

(A) I1s false 11 is true
(D) I and II are false

(&) I1s correct Il is incorrect

. Fill in the blank.
It is our responsibility SparTows. )
to save (B) saving (C) to saving (D) for saving

. Fill in the blank with the suitable conjunction.

You cannot go abroad you get the visa.

(A) still ® unil (C) if

(D) otherwise

. Choose the appropniate word for the following :

“any building of a past age, regarded as a historically important place™.
(A) Exhibition (B) Laboratory @ Monument (D) Sanctuary

Choose the correct passive form.
The manager appointed many office assistants.
(A) The manager were appointed many office assistants
(B) Many office assistants appointed the manager
Many office assistants were appointed by the manager

(D) The manager was appointed by office assistants

Fill in the Blank.
If your friend always tRinks the best will happen, she is

(A) Humorous Optimistic (€) Creative (D) Frank

Choose the correct meaning of the idiom *a couch potato”.
(B) An important person

(A) A clever person
An idle person 4E (D) An ideal person
Complete the following : Ol
If T had had money, . o
(A) I would invest in the business (B) I will have deposited in the bank
@ I would have donated

(C) T will buy a car

Choose the suitable question tag.
l’

Nobody called, .
(A) do they (B) didn’t they

(© did they (D) don’t they B
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( o~ " =~ Yy - = . ) . ’ . - p - - -
M. "@euron FTOT B TSy UITUTSU -Faagd & "uTTuIGle’ asuIas

SLT B w7
(A) Byaes QuapGen @ sutar Gurmdar
—~ ~ - -
(C) QuarGwawres GQursGar (D) SuT 3em
92. ‘euenids @alwid’ earumssd GlsTi ? E4E
Fnny | emarQuidasd GlgT i Eedd
Fnm 2 Quuwbgssd Ozmi o
(A) &y laf, &-nm 2 sy @ Fny 2 a7, D | sy
(C) s 1.2 & (D) yo>adab s

93. Saeuph TR ISClFTDSear QUTBSHF

1) eralsy — 1) ypgeuavi
2) F3ev - i)
3) yFFwi - i) emped
1) @oausvr - V) 2 paderi
(A) 11 v il i
(B) iv il i i

@ i v i
Yy i v i i

94. ‘&L oy B -e1eD SLOPFCEnadETe, HuEF GlaTamas Cxris
(A) Visa (B) Migration (C) Immigration @ Passport

95. (pafener yebavrs QenpGlpi_ey s ps
(A) 2euemens Bpiss GFlsmes (B) #3605 LoHeNaT BAIDI&L LI13ES eoeuF ST

@ yaUesT Bp% S aTTeT (D) werePd L ysss sar eupal $377

96. ‘FHSE . swse’ - @sClamebalia Qedsss @Pueus Cxisbls.
(A) HBESS0sTL_TseT ) Qulen & Reralseir
(C) wewrys Glarepsser (D) aYemews Clxmansser

Qrebensvedsy FLblpdasallEi LT eumpbF e
) Gevemeviilet SLhpsaHalleni LT UMpaTiIHEiT
(C) Omevensvuiled LilpssaNerT LT uTpHIDIiSHET
(D) Opeveneviled siBlpdasallert LV euTpEIGT DTS
98. Quicbifleynd aNBulenyth FleTD 2 UNTLPET SFHLI H@Lb- aflen_GsmD QT YOS S

. Quevggb aBGeyib Blerp 2 uiepe eTameu G 7 Swm

(B) Quéays al@uileyb Heip Gouiper sTeneu LOGLb ? w%é

(O) QueIayib aBuienyb Bleim 2 uiliLpest eTemey Lilem © &

(D) @Quei9epib aNDufsnyid Blerp 2 wIiiSeT sTEna (O(FHLD ?

99. S0 + 2 W97 ereLgenens Gaidgy eTUpSd BenL_s@Hib GlFmeL

97, %ng;&rrmgmg 2 ewrigaib GBI angd &L P&
(

(A) swgdi (@) sbupudi (C) srba udi (D) sepddi
100. sevdumse eTeiregyb Glensvenevls LIRSS 1(LpHs &leni_LIUS
(A) Beo1d) + whgev B) s + yBPsed

©) semy + sfsed (D) ponmy + whsed o
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C and right of A,

)

108. The

J°F l

o is that number ?
o e <nme number. What 15 lllfll

101. 1f 80 is added to .\‘()";:@n number pives t}"“(:’("")'];(;() (1) 600

A) 500 400 P
(A) St (h( LR o)y a1 Remi SFDB). AbH G163 614,y

o eravranflasr 80%0 2.1_a31 80 gxh i (h 3 - D) 600
(A) 500 (H) 400 (C) 800 ()
102. The next term in the sequence gﬁ
15,17,20, 22, 25,... 15 :
(A) 28 (B) 29 @© 27 (D) 26
15, 17,20, 22, 25,... eteirp Qupm_dlesr y®bg 2-mLi
(A) 28 (B) 29 (C) 27 (D) 26
103. Kumaravel has paid simple interest on a certain sum for 2 years at 10% per annum is T 750,
then the sum is
(A) T 3,650 @ 23750 (€) X 3,450 (D) ¥ 37,750
SwIBad @ GRUEOC L Qsraade 10% ey alssgHed 2 ppemarhlsar Y33l
?7508 safleul_ywns Qsays Rty a6t Haaw Cgrens P (SHLD-
(A) T 3.650 (B) T 3,750 (C) T 3,450 (D) ¥ 37,750
104. 45 planes were produced in 5 days by a company. How many planes will be produced in |8 days’
(A) 125 (B) 324 © 162 (D) 115

83 ureRy i n_,rg')ug‘;@' G’Ju:'uﬂb.jﬁﬂlmml‘b 45 aSlwneiaaner S pr seflsy o PUSE
suBpg eefled, sypilmeuannd 18 prlsellsh o HusH Qewruyh aSipmewmiisals
sIveRfidena sreirant ?

(A) 125 (B) 324 (C) 162 (D) 115

105. 1. Every rational number is a real numbers.
II. Every real number is an irrational number.

[ is correct (B) Ilis correct
(C) both I and II are correct (D) both I and II are incorrect
I edGeun RSP STEIERILD GlodiG e
1. gesGeunm GousQusinsmibd a8gwomr ereir. BEE
(A) | eredrugy o (B) Il ereirsgy oM I‘Elsk
(€) 1 wppd 11 @oe@id o (D) Lioppuid Il @esr@is gem
106. Find the odd word.
Arrow (B) Sword (C) Knife (D) Ax
sellgPma@b unigagaud san@iy e
(A) Spby (B) aunerr (©) =38 (D) Gsn_am
107. Arrange the words in meaningful scquence,
1. Weavin 2. Cotton 3. Cloth
(A) 2.4, 1.g3 @ 2,431 (€)4,2,1.3 * "‘("g)"“;‘ 1
untgengaaen sytgppsion uf@sid x@Qisa et S
1. Qp¥ey 2. u@SP 3. giewdl 4. g
(A) 2,4,1,3 (B) 2,4,3, 1 ©O4213  my3,, 4,

I"

e
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109.

110.

111.

-

re are five diﬂ'cr_cnt housc.s Ato E, inarow, A is to the right of B and E is to the left of
f A, B is to the right of D. Which of the house is in the middle ?

O (B) B (C) C (D) D
o E cueng 9@ cwhenaudeb mig aI@ a6t o sirenay. A ereig B o1 swwB g, F

C and righto

A FHeL

"i’p:’éy Cew @‘—-@53’&)' A afleir auev@ah 2 eTengy. B eresugy D o URF L 2 TN
s1is B pEID o erengl ? s
“(A) A (B) B (C) C (D) D ’@%g

In a class of 45 students, a boy is ranked 20* when two boys joined. his rank dropped b
one. What is his new rank from the end ?

(A) 25% (B) 26" © 27 (D) 28°

Qupmysmensit. (75395

b qu@ LIS @b Fpreus 203 Gymsd

G DIBITE. FE T (Z 5P

45 (onesgauiseT ULG&E
Snauitser GaibsGuUS VIS ST sullens @esTn/
IS ySw sgeudlens eresien ?

(A) 25¢ (B) 26" (©) 27" (D) 28"

Among 5 weight lifters P, Q.R,S
T. Two of them can lift weight less
among them lifts the maximum weight ?
T (B) R < Q (D) S

5 umnard@uaiseied (P, Q R, S opmith T) Q wyeuri P g il HBs erapL_eni
s1sa8pmi. e, T QL @empauTe elenL_edW S1ESE D Lyeuisal sl
B @i P g &L Gophs L oW 148 @piaufb. S GODBEFULS ST HW
aidsalldbaev. @mﬁa;af)d). wni HPsULF eTenL oW s1&@EpTi ?

D) S

and T, Q lifts more weight than P, but lifts less weight than

than P, S does not lift minimum amo

(A) T (B) R ©) Q
Results of class X of a school are given below. Study the table and answer the questions
Year 1991 | 1992 | 1993 [ 1994 | 1995 1996 B4E
Appeared 198 206 | 230 | 212 | 216 | 180 %
- &=
assed 180 197 | 210 | 203 | 194 178
In which year was the pass out percentage minimum ?
(A) 1991 (B) 1992
(C) 1993 @) 1995

E4Y ushedlienr LgSmMb @GLIY (LpLY-YSET G Csn@&éasuL GeTaneT.
AL udmawawt uiygg Caaralld( uBevellésayLb.

= Al C) 1991 | 1992 | 1993 | 1994 | 1995 | 1996
Careateami 198 | 206 | 230 | 212 | 216 | 180
3138 Quppat | 180 | 197 | 210 [ 203 | 194 | 178

85 BTG Cshs8 ORgh @Genpeund 2 6TMSl 7
(A) 1991 ®) 1992

© 159 (B) 1995

-"!I_ (

unt of weight. Who
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112, Caleulate the speed of the car.
R (hln)_/"/l
o 4 P
§ | (adidy
: | {180))_ a
o s
L | ,
WY ow “\‘.1- | '
e | | I—
a : %
Thawe o Howres
(A J0Kkmhour  (B) 50 km hour @ 60 km/hour
RV O Qeusth eTarey
3w} (160) 5
= ' (V%))
- WKW ¢
gy 4 {4n)
el (o)
& .l {120) "
2 ml (o)
A L !
i i ‘ 4 [

(A) 40 CGa7 B Li/wessf]
(C) 60 KC@sva LS 1_ri/oexnf

3 3
Sacd Baae b

(D) Cannot be determined

(B) 50 ®Gavr 81" 1_st/1p6wsf)
(D) Sionefésipiy wimsy

Answer the following 2 (113-114) questions based on the bar graph.
The given bar graph shows the population of three cities A, B and C in the years 2010, 2015 and 2020.

SarRdstul L vl L usIliuL s unigg, Bpeumsid 2 (113-

- >
'D.’_J\ Nl ﬂ\l._"}gl\i.

D Dist Berer uleo suanTuL @ 2010,2015 wHmIb 2020
A.B. C apsiry sariselar wasar Glsreans G)&n@ei;asuu,_‘_@a',mg_

AN (LABATlY wnd (wi a st )
ABC population (10 lakhs)

114) G&ciraﬁ?&@é@

S OF X 10 X T

T 35 36
. 3 33
1 .30 27 28 -0 ——
25 77
L s Z
/A
2010 2015 2020

=770

Elgﬁ-]
(Ole

113. Which of the following cities registered the greatest % variation in the population from 2010 t0 2020 7

A (B) B ©) C (D) BOthAand B
2010 eSkmigss 2020 aueng 1 FEISST LodseT CIBTDS A sxaisn "
(&) A (B) B ©€) C D) Awppy;p -
W - " T -
= \



114, In which year s the populanon of ¢
S ) ‘ tv B exceeding that of city >y
(A) 010D ) ‘HT( city A by 2075 7

LV )
@ 2020 {I3) Both 2015 and 2020
¢ B 3agdm e wdaih Ggreng, A paIEE o st Ggransw i C

eThE eI
20% WEFLLIS 2 TR 7

(A) 2010 (B) 2015
(Cy 2020 (D) 2015 wppuk 2020 s
Refer to the Pie diagram which depicts monthly budget of’ a ramily and answer the foilowing
three questions (115-117). Iok{S]
D A = Food e
p N 3 B = Conveyance
L0 C = Clothing
c D = Miscellancous
E
20% s 18% E = Saving
F = House Rent

&SELOUSHET LOTE UTH Gaevays B L gangd ST (Db evueusngUL_SensU pTidsayLl.
mrigE LesTeusLb apeirny Gaeradlsend L (115-117) @Y &5

eusnHgliuL_Gend U
A= 2 ewwey

1
D B = Guné&@aupdhsi o e
- 10%% A — 2w
- 25% C=o an
_ . - 3m3
c D = @sr Glsvayser o, et
E . Doy, > e .
.- . 18% E = Gebly <Y i :
12% F = oI Reur__ens 7 ol . —
6! - &
Seh .4

115. If total monthly income of the family is Rs. 3,080/- how much amount is spent on conveyance

per month ?
(A) Rs. 400 (BJ Rs. 360 ® rs.370 (D) Rs.325 @4

g@(_bug',@ci‘r Quonss TS &
g renas GleFwal L1L@GEDE ?

Limd @& eupSaId@ eTeuaana)
(A) e5- 400 (B) em. 360 (C) em. 370 (D) er5. 325
116. How much rent is pajg by the family per month ?
(A) Rs. 350 Rs. 462 (C) Rs. 430 (D) Rs. 426
S0 wn,ﬁ,&,@;b@ @& BbULD sreeuanrey @I (B eunL ens G)JBHMQJDQ 2
(A) 5. 550 (B) ¢3. 462 (C) ©- 330 (D) e 426

e e
e




e I8

: . )
1w much amount is spent on clothing per month * Re. 554

5 ~ . 380

(A) Rs. 530 (B) Rs. 545 (C) Rs. 38( : S
S 0 THFHB DS YN FHTH ST Qarens Qeail U u@@,sp?i: :
(A) e5.530 (B) ep. 545 (C) ex- 580 (D) - 2°

Answer the following 3 (118-120) questions.

In a school, there were five teachers. P and Q were tea.chi_ng Sanskrit z}nd Maths. R and Q w ere
teaching Maths and History. S and P were teaching Hindi and Sanskrit. T and Q were teaching
Geography and Spanish. =5E

s e 3 (118-120) aflenrnsia@ps @ afleni_weafssEayb. [’5%1

Lrvireuil s 5 o Fflusissair o_eiremestii. P oppyb Q o AAwiss FLoaUBIBH LD LoD DID & B LL
sn9&Emriaear. R wppro Q A w iser seflFLd DDDYLD SUT T ESDIAEE Drisen.
S wpmyb P @ Rwisen a'_nﬂrrgg WD mILD FLoUE (B LD spils@priser. T wpoywe Q
2y, @ Awiser yafluluied LoPmiLb svGuehlay aDI&RDIIsSET.

118. Who among the following teacher was teaching less than 2 subjects 7

(A) P (3 B

) S There is no such teacher
T o @Musriser2 LITL_ IS ETh & (HDDeUNTS sTRSHIpaisernr.

(A) P (B) R

(©) S (D) 158 oS Ruwipes @

119. Which of the following pair was teaching both Maths and History ?

o (B) Qane S : - ) Fand (D) None of these
sThH @B é_{,@f‘i)wﬁa;dra;mﬂgm LDDItD QuFevIIY U’T‘-—’élﬂicfra;'@@é@mn& .
(A) Q wpmoudb R (B) Q wdmb S Zeir o
(Cy PeoppntQ D) @8 SIS b Fsven e

120. P and Q were teaching which subjects ?
Sanskrit and Maths (.B) History and Hind;
) Geography and History . . (D) Spanish and Sanskais
P opmp Q e1hS LTS0S ssgil_'lhf@mmrasdr 2
() FLOGUB (B&HLD wHmh FeHSLD 82 mg(;”"@’ hxuk e
dPwet LoMHmyLd TSI e T /Lo &,
e o W LDDID F0 e R 5.5

: . followi stion, various forms of a letter seri . )

12t ;};fillll?)ivinog;ng’;;‘.gcql:ioe;sc the missing term out of the giv:xsl :ll’f—eil];g:’::
HHUA GTZ FSY ERX 7 1 .
(A) DWQ @ DQW - (C) WDQ - D Eﬁ
it e, USGUD! STUEE OBGULIEST 2 Groncy, @
w1 p B FH D (Sedrau LD aTlew i Slsps Corbs GT@GEGWLE). QR QN e
HUA GTZ FSY ERX?

(A) DWQ (1’3) DQW (C) WDQ (D) WD

=2l "_"_‘—_'—_‘-‘-‘_’--— ‘\
—_—

th one term missing




ﬁ .

122. R is the brother of A. S is the sister of P. A is the son of S. How i1s R related to S 7

@ Son (B) Brother

(C) Uncle (D) Father g - :
R ereiiueun A aYeir #@&ng . S eresrsun P ufieer s Gasngd. A e1esTLIGUT S ST IDFET. ¢ 7"-\)
R p@ S p@b e1e56s 2.pey wpevp ? D& r
(A) wsew (B) #Qzxngun Eﬁ%ﬁi 8 :;".,
(C) wnwesr (D) spes

E

123. A watch reads 4.30 of the minute hand points East, in what direction will the hour hand points
(A) North (B) North-West  (C) South-East @ North-East _
S & HETISH6 wewf 4.30 ST 8mal, FHL LT BpsHS Grr&SuT (HBS T,
weshuper e1pg Densemw Grras) @) &L

(A) uL&® (B) ew_Guop& r~
(C) Qzsa8YPsS P) v 8B5S

124. If the code for ‘STABLE’is 1 2 3 4 5 6 and code for ‘'LABOUR"is 53 4 7 8 9, then what
will be the code for ‘BOTTLE’? I
472256 (B) 472556 \»_’;‘
(C) 472265 (D) 475526 v

S

Pev GOILIL B g L leD ‘STABLE' ereirusenr gBlui® 123456 gyasayib, ‘LABOUR’
srerrLIz e GO D 534789 syseyd @i, ‘BOTTLE eisdvugesn gBlu® eresies - \
(A) 472256 (B) 472556 N
(C) 472265 (D) 475526

125. Raja moves from his house and walks 10 feet towards east, turns right and walks 3 feet.
o Again he tumns right and walks 14 feet. How far is he from his house ?

(A) 4 feet 5 feet % I
(C) 24 feet (D) 42 feet [=¢ T
pnggn et oIS @GEE BDpse Crrad 10 sy pL s 6T umyDL Bl

3 eyig BLEE)DAGH. LODILILG UJLD By GUEH URSIDLD BHLDL 14 Sy BLSEDTer. gyaue

Q9L 19 OB BSS ETSUICUETRY SITLOTS 2 GTETNEH 7 a7

(AY < g (B) 5 =14 s
(C) 24518 (D) 42 1y




126. The following ques

12

F:.

T

&

J26-

§

of figures. Figure A, B, C, D constitute the
t. There is relationship between A and B.

tion consists of two sets
1. 4 constitute the answer s¢

problem set, figure 1, 2,
C and D by selecting suit

Establish a relationship between

able figure from the answer sct.

«— —> ? \ —
| ~— '\I / 7| Y /)
A B c D 1 2 3 4
(A) 1 (B) 2 ©) 3 4 okig)
. . @ E%ﬁ
(S erauid Gaeralluiier @) res(h aflsLomeT QUGN TLIL_BISGT 2_GTGITET. suenJuL_missT A, B,

C, D erar 7 : <. o . i
. uesr Gaearalld@miw L mi&sT. UFNILILBISET 1,2, 3,4 eradren uBayFG B U

L dimear A wpmk B alng @ Cuw @ Csr iy o s GQesT@SSLIIL L
Qzreniaimpra Gurapsswrar uBmea Csiptls @ C wpmitb D afer @ene Guw

o _simerr Qe Blmyaayin.

Sl N = Sl
—|=|(l) N | = ()

A B C 1 2 3 4
(A) I (B) 2 (C) 3 () 4

Which letter will be placed at the question mark (?) to complete the pattern ?

ﬁ% okig
&cx Eé&
@ ow

(A) DK
Caaralé@GRE L Q& e155 TP BB BHEN ST DaugsTw @)bs LL_Sens Hlernay

(C) DL (D) DE

Dadiw uptgujLb

(az [V

(C) DL (D) DE

e t—n ——
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According to the given diagram which one of the follow ing statements s true ?

» Magicians

\ —t—> Philosophers
Historians /

(A) All historians arc magicians
(B) Some magicians are philosophers as well as historians
iC) All historians are cither philosophers or magicians

Some historians are philosophers

Can@asiu’ L auenpul g@ar apevtd Bpaesm (Heren 6155 BN 2_eSTIENLD ?

wi@oaunm  EIE

L @rd

\ —1—> pagreuaunf
supunppr®Awn

(A) ervewnr argevnppn&flusmib whBpeinB) pyeui

+(B) O wpBuainBadr gagaeunBunsab, aipeondpr®Augnsah o ereresi

~(C) 61Gi'3svn' a{umrrj)‘mnﬂfﬂw@m gcbwgg'glmwn@wnaGmncdewg wERgeunr@uinsGasn
o emenewi

. (P) ®a aupewappr®dwiser ggaaian) gy e

129. If A is to the South of B and C is to the East of B, in which direction is A with respect to C ?
(A) North-East (B) North-West (C) South-East @ South-West
o e Daseat L s e Bysannii Qoars Cp
(A) ar®pps®  (B) an_Cupg (C) Glgair &pas (D) OsrGup s
130. Choose the Venn diagram that depicts the correct relationship among the three groups.
Dogs, Pets, Cats

(A) @ ©) @) (©) OOO (D) =0

ooy Gupssaiean Gu sllunea 2 pear BFsM5 615 Qe o . .
CeipdsBasad. NIUL Genss
pruisen, Qe ipasnfier, (enswasr

"@ oo "

——
— —
————
——
————— ——
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Find the number of triangles in the figure below.

/
J/
Lt
P—

7 A .
() 10 @ 12 (C) 13 (D) 14

RPATEIVD LI FR s eTEF T (0% CFTERIEIHET 2 STETET

AR 25

(A) 10 (B) 12 <(€) 13 (D) 14

Which of the diagram represent the statements ?
— Some musicians are teachers

— Some teachers are players, but

— No musician is a player.

(A) @ (B) @ o 1O O

Sarau@md UL s st Gl TR &S UL (Rarar cur&Swmisenar SDOER DS 2
- Y Q)eFwenwIuTaTAST 248w iser
- Ao gy FANwisaT aflenerwn’ (B algiser, yarme,

CeTEs @QewFwenoliumerigen lemwrl B efpiser @)sbencn

(A) C% @ | (D) © O O] @

. Check the odd one out.

1, 8, 65, 64

(A) 1 (B) 8 © e (D) 64
&3S B BIGSLD STV NN TR SS STULSIS- B4E

1, 8, 65, 64 Ote

(A) 1 (B) 8 (C) 65 (D) 64

_ Ramu ranks seventh from the top and twenty sixth from the bottom of a class. How manv

students are there in a class ?

(A) 34 32 (C) 31 D) 33

S5 QU@ LI wH UYL Ul guealle 0y G'-_“&Q!_iﬂ:"@ ﬂy_mmgy sy .
QusH DTS QL s@syb QuBISTONT. UGSIID eTEs@ear 1omemrey 5
2 SIS,

(A) 34 (B) 32 (©) 31 (D) 33
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135. Find the missing chamclcr from the givcn alternatives. _f,-‘-* L
'“ -~
— LY T ) 21 10 o ?
._ \\Y, Y \Y
E v :
14
(A) -21 (B) 12 ©) 32 @ 22
\\\-

Serau@Lh sTewsafiey G&draﬂ&@ﬂuia_’.i_ eTeRT 675/ €11 s Pluayb ?

Y Y VR
14 15 16

-

(A) -21 (B) 12 (C) 32 (D) 22
136. Match the following : B
i) Co-efficient of range 1)4:3 ;
2) 3:2

ii) Co-efficient of variation

3) Exm()%

ii) 32:24
iv) Ratio of 3 m to 200 cm 4) E_S.
L+S
(A) 4,1,2,3 (B) 2,3,4, 1 ©+3.12 O 1,432
QunmSS!S-

i) afdssllaw 1)4:3 % Tl
i) wrpuTC@ECswp 2)3:2 r
jii) 32:24 3) gme%

iv) 3 5 &b 200 Qsif S 2 cerer &g 4) — = L S
L S
(A) 4,1,2,3 (B) 2,3,4,1
2 @43[2 (D) 1,4,3,2

——EEEEEEER...




137, Construct algebraic equations for the tollowing verbal statement.

. . S s e o d 15 33.
Ravi’s father’s age is 5 years more than 4 times of Ravi's age. His father’s age 1s 33
(A) 4x—5 =33 (B) Sx +d4 33 ix+5=33 (D) 5x—+4=33

; ; ‘ . . . : . QAUTH %5,
(Pesraumid @unutQ omfld g m i G arH BB LOTEST @lu,fl)e%mﬂ;ff’ #Lo@TUT® 2-(B 3

raruf et O un@Iedr uusg) ganur o B ard LOL_MBI&HL_&T S 25 Fnl L B UUZ B, L
gadluder L 1uA@NST Qi 33 PG LD
(A) 4x -5=33 (B) 5x +4 =33 (g) 4x +5=33 (D) 5x—4=233
138. The tnangle with perimeter 12 ¢m can be E;%&EI]
(1) An equilateral tnangle -
LooAnasosceles triangle
@ Only (1) 1s true (B) Only (i) is true
(C) (1) and (1) are true (D) (i) and (i1) are not true
12 Q5.8 admemayainer (Lpd G mas 515 6T (ISTQ(BLOTDI HDLDWSVTLD.
(1) @b UGS WpHGaHrenions B EDLLUIGCITLD

(i s @pFoUES LS CHRTILTS DNEDLOUIGVTLD.

(A) (1) w_@uo & (B) (il) ol R to &1f
€Y (i) wpmyo (i1) #A (D) (i) wpmh (i) Saumy

139. The side of a square is 10 cm. [Fits side is triled, then by how many times will its perimeter

increase ?

(A) 2 times (B) 4 times (C) 6 times @ 3 times

Rb FHUSBE USSID 10 Q. (8 ps@ayL_ W USSLD ALSTD) LDL_ RIS T %D Cuaay,
FDDTRY STHBENGT LOL_MIBNH DB FDASGID 2 Enﬁ\@
(A) 2 woLm@ (3) 4 o_mics (C) 6 LB (D) 3w sy @

140, “What is the probability of drawing a king or a queen from a deck of 32 cards ?
(@ 2/13 (B) 3713 (C) /13 (D) 8/44
52 @1 Raer QanerL 5 FLLB% sl 13 )@ s @orem yeagy @ oaenh
QaibCs@usDETe BAPSHRY sTa1aT 2
(A) 2/13 (B) 3/13 (C) 113 (D) 8/44




